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2025-06-16 (Day 79)
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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [[’ FVOEC:

r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-6_0
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P3-6

BfiE) | GEBAK ) | ERE (EAR/H) | BERERE (B/R) | XS R

07:05 273 150. 0 2.583 [/Z\F| FnHA@O7:05 KEIFEFE (KRAIEREEE)
07:50 273 150. 0 2.583 [/Z\F| FmHA@O7:50 XREFEF (KAL)
08:40 273 150. 0 2.583 |/\F| FnHB@08:40 FEIEF (KREEZERE)
09:45 273 150. 0 2.583 |/\fli| FmEA@09:45 FKENFEF (FKFIEREEE)
10:35 273 150.0 2.583 |/\F| FnHBe10:35 KRHEFEF CREAERSE)
11:20 273 150.0 2.583 [/\ilg| FaHA@11:20 KEIEF CGRAEESE)
12:05 273 150.0 2.583 |/\fi| FiHH@12:05 KREIFEF (GRAAEREEE)
12:50 273 150.0 2.583 |/\F| FuHR@12:50 KREIEFE CGREERSE)
13:35 273 150.0 2.583 [/\fi| FnHR@13:35 KREIEF (REEZERE)
14:20 273 150.0 2.583 |/I\fE| FiHAe14:20 KREIEF CGREERHSE)
15:10 273 150.0 2.583 |/\FE| FnHA@15:10 REIEF (REAERSE)
16:05 273 150.0 2.583 [/\f| FnHR@16:05 KREIEF (REEZERE)
17:20 273 150.0 2.583 [/\ili| FmHR@17:20 REIEF CGREERSE)
23t 3549.0 (13%) 1950. 0 FHIKEC: 2200, PH: 5.6

FRBIFE NS RFERPH 5.6, HTHERNASZIFESBIEPH, §F AR
#[EKECE (1687.0 vs 6203.0) 15
FRAE NS KFREC 2200. 0




ET (ml/hr/plant)

P3-6_0, Day=79 (2025-06-16)
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P3-6

BfiE) | GEBEATIC () | ERE (EH/f) | ERERE (B/R) | XS ERE

08:30 273 150. 0 2.583 FH| {Ri%e08:30 Bzh (kRAEESE)
09:30 273 150. 0 2.583 FE| 1BRi&@09:30 Bzh (RAEREISE)
10:30 273 150.0 2.583 (£ =| 1Ri%@10:30 B3 (RAEBSE)
11:30 273 150.0 2.583 (Z=| {Ri%e11:30 Bz (REAERSE)
12:30 273 150.0 2.583 [/\ifi| {Ri%@12:30 Bz (REAEHRSE)
15:05 273 150. 0 2.583 |/ M| {Ri%@15:05 BEh (KRFA{ERSE)
Bit]1638.0 (6%) 900.0 ZHIKEC: 2200, PH: 5.6

large discrepency for begining water status (337:111.0), set to 337 ml.

BREZW S RFERPH 5.6, BT B ENIFIEPH, 5 FshiEE

[B]EC 6163.0 K&, EIMIKECALEMITER
#HEKRECE (1703.0 vs 6163.0) 5
HRENE Y4 K REC 2200. 0




P3-6_0, Day=78 (2025-06-15)
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P3-6

BfiE) | BRI (7)) | EME (EHR/4) | BEBREE B/ =5 R

06:50 273 150.0 2.583 F| {Ri%e06:50 HEI (REAHERESE)
07:50 273 150. 0 2.583 Z| {Ri%e07:50 B (REEZBE)
08:50 273 150.0 2.583 FA| 1Bzi%@08:50 B3h (KAB{EREEE)
09:50 273 150.0 2.583 FA| 1BRi%@09:50 B3h (KA{ERE)
10:45 273 150.0 2.583 FA| 1B2i%@10:45 B3h (kAEREE)
11:40 273 150.0 2.583 FH| 1Bige11:40 Bzl (GRAERSE)
12:35 273 150.0 2.583 FA| {Ri%@12:35 Bz (GRAEEE)
13:35 273 150.0 2.583 FA| {Ri%@13:35 Hz (GRAERE)
14:50 273 150.0 2.583 FH| 1Bige14:50 Bzh (GRAEREE)
21t 2457.0 (9%) 1350.0 3IHKEC: 2200, PH: 5.8

FRBUFEN S RFERPH 5. 77, M THERNAIZIFBFAIEPH, §F AR
[o{&REC 5857.0 K5, EINF{RKECAE & HRER
#[EKECE (1727.0 vs 5857.0) 15
FREVE Y4 KiFHREC 2200. 0




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-6_0, Day=77 (2025-06-14)
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P3-6

BfiE) | GEBATK () | ERE(EA/K) | ERERE (B/R) | XS R

05:40 273 150.0 2.583 FA| 1B2i%@05:40 B3zh (RAB{ERSE)
06:30 273 150.0 2.583 |Z=| 1Bi%e06:30 Bz (RAERE)
07:20 273 150.0 2.583 |Z=| {Ri%e07:20 B (REEZHE)
08:10 273 150.0 2.583 |Z=| {Ri%e08:10 Bz (KREAEZEHE)
09:00 273 150. 0 2.583 |Z=| {Ri%@09:00 Bz (KREEZERE)
09:50 273 150.0 2.583 (£ =| {Ri%@09:50 Bz (KRAERSE)
10:55 273 150.0 2.583 FH| 1BRi&@10:55 Bzh (GRAERE)
12:50 273 150.0 2.583 FA| 1BRi%@12:50 B3h (RABERESE)
13:35 273 150.0 2.583 FA| 1BRi%@13:35 B3h (KRAERSE)
14:15 273 150. 0 2.583 FR| 1BRi%@14:15 Bzh (kAEREE)
14:50 273 150.0 2.583 FA| 1BRi%@14:50 B3h (RABIERSE)
16:00 273 150.0 2.583 FA| 1BRi%@16:00 B3h (KRAERESE)
24t 3276.0 (12)%) 1800. 0 ZHIKEC: 2200, PH: 5.9

large discrepency for begining water status (543:135.0), set to 543 ml.
IRBI NS Rt i&PH 5. 93
[E;&EC 6403.0 K5, EiUFARECAE&Z MitER
PBEERECE (1760. 0 vs 6403.0) 5
RS RIFIREC 2200. 0
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P3-6_0, Day=76 (2025-06-13)

T e g g e B S g
VI, Vg, QI%I ET - VI, VO, FVI

1100
100 A

50

48 Warning: lcol ['FVI’,

"FVO' ] missing

, FVO, FRV, ad jFRV, ET

90 4 mmm vI

L TX

-._—.—r—-.— — g -

Warning: lcol ['WC1’,

"WC2' ] missing

- 500

optEC0=2829. 0, setECB=2200

Warning: lcol ['ECB’,| 'ECC’'] missing

0.2~

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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P3-6

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS EX

05:30 283 150.0 2.583 FA| 1B2i%@05:30 B3zh (KAB{ERESE)
06:30 283 150. 0 2.583 FA| 1BRi%@06:30 BH3zh (FKA{EREE)
07:30 283 150. 0 2.583 FA| 1B2i%@07:30 B3h (kA{EREE)
08:30 283 150.0 2.583 FA| 1Bzi%@08:30 B3zh (KAB{EREEE)
10:45 283 150. 0 2.583 |Z=| {Ri&e10:45 Bz (GREERSE)
13:00 283 150.0 2.583 FA| {Ri%@13:00 Bz (GRAERE)
13:40 283 150.0 2.583 FA| 1B2i%@13:40 Bzh (RAB{ERESE)
14:15 283 150.0 2.583 FE| 1BRi&e@14:15 Bzh CGRAEREE)
14:55 283 150.0 2.583 FA| {Ri&@14:55 Bz (CGRAEREE)
15:40 283 150.0 2.583 |Z=| {Ri&e15:40 Bz GGREAZEBE)
16:55 283 150.0 2.583 | =| 1Rige16:55 Bz (RAFEHE)
23t 3113.0 (11%) 1650. 0 IHKEC: 2190, PH: 6.0

large discrepency for begining water status (320:168.0), set to 320 ml.
RBIE NS R &PH 6. 005
[E];/REC 5847.0 K&, EILFAKECAE&iMEtER
BEERECE (1803. 0 vs 5847.0) 15
RS RIFIREC 2194.0




P3-6_0, Day=75 (2025-06-12)
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